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1 A A A 4 A 5 A 6 A
E %4 B = {ifiF& keHYUMiE| & = fiiA& keHYME| & = ity keHUME] B = {4 keHUME]| M = {4 keBUMMEHE| % = i+ kg3 b filifg
(kg) (FH) (M) (kg) (FH) () (kg) (FH) (1) (kg) (FH) (1) (kg) (FH) (FH) (kg) (FH) (FH)
th = 2,750 377 137.09 - - - — - - - - - - - - - - -
r 3 v 4 129,862 15,323 117.99 185,583 22,230 119.78 35,557 4,645 130.64 277,467 33,251 119.84 183,213 23,335 127.37 110,705 13,398 121.02
FAYNERE 374,035 35,061 93.74 790,233 70,849 89.66 582,320 50,978 87.54 175,516 16,722 95.27 74,373 7,595 102.12 166,019 15,672 94.40
5 4 - - - - - - - - - - - - 7,290 1,711 234.71 12,053 2,692 223.35
4 £ 1y R - - - - - - - - - - - - - - - - - -
N 4 P - - - - - - - - - - - - - - - - - -
J N A Y 7 - - - - - - - - - - - - - - - - - -
4 %2 1) 7 - - - - - - - - - - - - - - - - - -
T L -7 - - - - - - - - - - - - - - - - - -
h + A - - - - - - - - - - - - - - - - - -
~ L a - - - - - - - - - - - - - - - - - -
=1 5 506,647 50,761 100.19 975,816 93,079 95.39 617,877 55,623 90.02 452,983 49,973 110.32 264,876 32,641 123.23 288,777 31,762 109.99
Al £ @ A B 420,458 50,623 120.40 553,229 59,625 107.78 602,315 66,644 110.65 532,032 65,893 123.85 562,305 58,670 104.34 272,139 30,607 112.47
Bl B A (%) 120.5 100.3 83.2 176.4 156.1 88.5 102.6 83.5 81.4 85.1 75.8 89.1 471 55.6 118.1 106.1 103.8 97.8
7 A A A 10 A 11 A 12 A
E %4 ®n = ffi & keHUfEHE| #® £ {i+& keH U] M £ {i+& keHUHEHE| 2% = {4 keHUEME| % = & keHUEHE| % = ffi & (= DAl
(kg) (FH) (M) (kg) (FH) ([) (kg) (FH) (H) (kg) (FH) (H) (kg) (FH) (H) (kg) (FH) (H)
th ] - - - - - - - - - - - - 19,080 1,424 74.63 - - -
rr 3 v 4 513,682 66,909 130.25 33,156 4,411 133.04 54,617 6,931 126.90 293,516 40,219 137.02 278,564 37,922 136.13 314,927 41,886 133.00
FTrA)HhER 369,072 33,496 90.76 96,151 10,173 105.80 314,519 30,130 95.80 170,379 17,417 102.23 322,301 30,953 96.04 208,910 20,512 98.19
2 14 5319 1,220 229.37 5,310 1,191 224.29 8,000 1,110 138.75 - - - 9,027 2,067 228.98 - - -
4 £ 1y R - - - - - - - - - - - - - - - - - -
N A Y - - - - - - - - - - - - - - - - - -
J LAY T - - - - - - - - - - - - - - - - - :
4 2 1) 7 - - - - - - - - - - - - - - - - - -
¥~ L -7 - - - - - - - - - - - - - - - - - -
h + e - - - - - - - - - - - - - - - - - -
~ L a - - - - - - - - - - - - - - - - - -
= 5 888,073 101,625 114.43 134,617 15,775 117.18 377,136 38,171 101.21 463,895 57,636 124.24 628,972 72,366 115.05 523,837 62,398 119.12
Bl FE R A & 695,841 69,453 99.81 298,817 35,244 117.95 477,387 54,857 114.91 536,475 53,549 99.82 846,229 80,255 94.84 744,388 79,809 107.21
BIE G A L (%) 127.6] 146.3 114.6 45.0 44.8 99.4 79.0 69.6 88.1 86.5 107.6 1245 74.3 90.2 121.3 70.4 78.2 111.1
% Bl
E %4 B = ity (0= DATiiit -3
(kg) (FH) (M)
e 21,830 1,801 82.50
A 5 v H| 2410849 310,460 128.78
TA)hERE| 3643828 339,558 93.19
2 4 46,999 9,991 212.58
4 ¥ Uy R - - -
N 14 P - - -
J LAY 7 - - -
4 &2 1) 7 - - -
Y~ L -7 - - -
v 7 e - - -
~ L O - - -
= | 6,123,506 661,810 108.08
Bl &£ B A {E| 6,541,615 705,229 107.81
BIERE A (%) 93.6 93.8 100.3




P RR294 A BIBA KR

FRFV—R
2103.20-090
1 A A B 4 A 5 A 6 A
E £ B = ity keHUfEHE| #® £ ity keH U] M £ ity keBUfEH| 2% = i3 keHUEE| 8% = i3 keHUMEHE| % = ity kg Ui 4%
(kg) (FH) (M) (kg) (FH) ([) (kg) (FH) ([) (kg) (FH) (H) (kg) (FH) (M) (kg) (FH) (H)
TA)AhERE - - - - - - - - - - - - 17,128 2,345 136.91 - - -
4 2 ) 7 9,061 1,465 161.68 - - - 40,867 10,679 261.31 1,806 1,116 617.94 364 410|  1,126.37 17,943 2,881 160.56
4 ¥ 1J R - - - - - - - - - - - - - - - - - -
7 4 1) E v - - - - - - - - - - - - - - - - - -
72 35 v R - - - - - - - - - - - - - - - - - —
J 5 T )L - - - - - - - - - - - - - - - - - -
2 9 5 4 F - - - - - - — — - - — - - - - - - -
=1 B 9,061 1,465 161.68 - - - 40,867 10,679 261.31 1,806 1,116 617.94 17,726 3,064 172.85 17,943 2,881 160.56
B E R A E 2,118 634 299.34 - - - 9,444 1,452 153.75 - - - 2,300 1,097 476.96 18,509 3,394 183.37
BIE G A L (%) 427.8 231.1 54.0 - - - 432.7 735.5 170.0 - - - 770.7 279.3 36.2 96.9 84.9 87.6
7 A A B 10 A 11 A 12 A
E £ B = ity keHUMEHE]| #® £ ity keHUfHEHE| M £ Gty keHUEHE| 2% = ity keHUEME| % = ity keHUMEHE| % = ity (0= DAl
(kg) (FH) (H) (kg) (FH) () (kg) (FH) (A) (kg) (FH) (A1) (kg) (FH) (H) (kg) (FH) (M)
FXA)HhERE - - - - - - - - - - - - - - - - - -
4 2 ) 7 2,632 1,818 690.73 10,151 1,745 171.90 - - - - - - 9,928 6,088 613.22 13,204 7,872 596.18
4 ¥ J =R - - - - - - - - - - - - - - - - - -
7 4 1) E v - - - - - - - - - - - - - - - - - -
72 5 v R - - - - - - - - - - - - - - - - - -
J 35 U )L - - - - - - - - - - - - - - - - - -
7 9 5 4 F - - - - - - — - - - — - - - - - - -
=1 B 2,632 1,818 690.73 10,151 1,745 171.90 - - - - - - 9,928 6,088 613.22 13,204 7,872 596.18
B R A fE - - - 1,793 2,005 1,118.24 534 334 625.47 - - - 747 648 867.47 2,010 891 443.28
BIER A (%) — - - 566.1 87.0 15.4 - - - - - - 1,329.0 939.5 70.7 656.9 883.5 134.5
= B
E £ M E ity kg2 U fii&
(kg) (FH) (M)
FTA)VhERE 17,128 2,345 136.91
4 2 ) 7 105,956 34,074 321.59
4 ¥ J R - - -
72 4 Y E v - - -
72 3 v R - - -
J 3 v M - - -
2 9 7 4 F - - -
= & 123,318 36,728 297.83
Bl F R A fE 37,455 10,455 279.13
Bl B A (%) 329.2 351.3 106.7




